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от 24.08.2022 N 2419-D, от 24.12.2022 N 4173-D) 

 

 

I. �лO аптек (7ото6OE лекаDEт6е==OE DоD<, пDо876одEт6е==OE, 
пDо876одEт6е==OE E пDа6о< 877ото6ле=8O аEепт8чеEк8E 

лекаDEт6е==OE пDепаDато6) 
 

Код АТ% А=4то<о-теD4пе6т8GеEко-

E8<8GеEк4O 
кл4EE8D8к4F8O (АТ%) 

Лек4DEт6е==Kе 
пDеп4D4тK 

Лек4DEт6е==Kе DоD<K 

A п8Iе64D8телL=K9 тD4кт 8 
о5<е= 6еIеEт6 

  

A02 пDеп4D4тK длO леGе=8O 
745оле64=89, E6O74==KE E 
=4DуHе=8е< к8Eлот=оEт8 

  

A02B пDеп4D4тK длO леGе=8O 
O76е==о9 5оле7=8 
6елудк4 8 
д6е=4дF4т8пеDEт=о9 
к8Hк8 8 
74EтDоM7оD47е4лL=о9 
DеDлNкE=о9 5оле7=8 

  

A02BA 5лок4тоDK H2-

78Eт4<8=о6KE DеFептоDо6 

D4<от8д8= т45летк8 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

A02BC 8=7858тоDK пDото==о7о 
=4EоE4 

о<епD47ол к4пEулK 

8л8 т45летк8 

A02BX дDу78е пDеп4D4тK длO 
леGе=8O O76е==о9 
5оле7=8 6елудк4 8 
д6е=4дF4т8пеDEт=о9 
к8Hк8 8 
74EтDоM7оD47е4лL=о9 
DеDлNкE=о9 5оле7=8 

68E<ут4 тD8к4л8O 
д8F8тD4т 

т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

A03 пDеп4D4тK длO леGе=8O 
Dу=кF8о=4лL=KE 

  



=4DуHе=89 6елудоG=о-

к8HеG=о7о тD4кт4 

A03A пDеп4D4тK длO леGе=8O 
Dу=кF8о=4лL=KE 
=4DуHе=89 6елудоG=о-

к8HеG=о7о тD4кт4 

  

A03AD п4п46еD8= 8 е7о 
пDо876од=Kе 

дDот46еD8= т45летк8 

A06 Eл458телL=Kе EDедEт64   

A06A Eл458телL=Kе EDедEт64   

A06AB ко=т4кт=Kе Eл458телL=Kе 
EDедEт64 

58E4код8л Eуппо78тоD88 Dект4лL=Kе; т45летк8 

  Eе==о78дK A 8 B т45летк8 

A07 пDот86од84Dе9=Kе, 
к8HеG=Kе 
пDот86о6оEп4л8телL=Kе 
8 пDот86о<8кDо5=Kе 
пDеп4D4тK 

  

A07D пDеп4D4тK, E=864NI8е 
<отоD8ку 6елудоG=о-

к8HеG=о7о тD4кт4 

  

A07DA пDеп4D4тK, E=864NI8е 
<отоD8ку 6елудоG=о-

к8HеG=о7о тD4кт4 

лопеD4<8д к4пEулK 

8л8 т45летк8 

A07F пDот86од84Dе9=Kе 
<8кDооD74=87<K 

  

A07FA пDот86од84Dе9=Kе 
<8кDооD74=87<K 

58D8до54ктеD88 
58D8ду< 8л8 
пDо58от8к 87 
58D8до54ктеD89 
58D8ду< 
од=око<по=е=т=
K9 
EоD58Dо64==K9 

к4пEулK 8л8 поDоHок длO пD8е<4 
6=утDL 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.12.2022 N 4173-D) 

A09 пDеп4D4тK, 
EпоEо5Eт6уNI8е 
п8Iе64Dе=8N, 6клNG4O 
DеD<е=т=Kе пDеп4D4тK 

  

A09A пDеп4D4тK, 
EпоEо5Eт6уNI8е 
п8Iе64Dе=8N, 6клNG4O 

  



DеD<е=т=Kе пDеп4D4тK 

A09AA DеD<е=т=Kе пDеп4D4тK п4=кDе4т8= к4пEулK 8л8 т45летк8 

A11 68т4<8=K   

A11G 4EкоD58=о64O к8Eлот4 
(68т4<8= C), 6клNG4O 
ко<58=4F88 E дDу78<8 
EDедEт64<8 

  

A11GA 4EкоD58=о64O к8Eлот4 
(68т4<8= C) 

4EкоD58=о64O 
к8Eлот4 

дD46е 

8л8 т45летк8 

C EеDдеG=о-EоEуд8Eт4O 
E8Eте<4 

  

C01 пDеп4D4тK длO леGе=8O 
745оле64=89 EеDдF4 

  

C01D 647од8л4т4тоDK длO 
леGе=8O 745оле64=89 
EеDдF4 

  

C01DA оD74=8GеEк8е =8тD4тK 87оEоD58д4 
д8=8тD4т 

т45летк8 

  87оEоD58д4 
<о=о=8тD4т 

к4пEулK 

8л8 т45летк8 

  =8тDо7л8FеD8= EпDе9 подJO7KG=K9 до78Dо64==K9; 
т45летк8 

C03 д8уDет8к8   

C03A т8478д=Kе д8уDет8к8   

C03AA т8478дK 78дDоEлоDот8478
д 

т45летк8 

C03C "петле6Kе" д8уDет8к8   

C03CA EулLDо=4<8дK DуDоEе<8д т45летк8 

C03D к4л89E5еDе74NI8е 
д8уDет8к8 

  

C03DA 4=т47о=8EтK 
4лLдоEтеDо=4 

Eп8Dо=ол4кто= к4пEулK 

8л8 т45летк8 

C07 5ет4-4дDе=о5лок4тоDK   

C07A 5ет4-4дDе=о5лок4тоDK   

C07AB Eелект86=Kе 5ет4-

4дDе=о5лок4тоDK 

4те=олол т45летк8 

C08 5лок4тоDK к4лLF8е6KE   



к4=4ло6 

C08C Eелект86=Kе 5лок4тоDK 
к4лLF8е6KE к4=4ло6 E 
пDе8<уIеEт6е==K< 
де9Eт68е< =4 EоEудK 

  

C08CA пDо876од=Kе 
д878дDоп8D8д8=4 

4<лод8п8= т45летк8 

  =8Dед8п8= т45летк8 

C08D Eелект86=Kе 5лок4тоDK 
к4лLF8е6KE к4=4ло6 E 
пDO<K< де9Eт68е< =4 
EеDдFе 

  

C08DA пDо876од=Kе 
Dе=8л4лк8л4<8=4 

6еD4п4<8л т45летк8 

C09 EDедEт64, де9Eт6уNI8е 
=4 Dе=8=-

4=78оте=78=о6уN E8Eте<у 

  

C09A 8=7858тоDK А�$   

C09AA 8=7858тоDK А�$ к4птопD8л т45летк8 

  M=4л4пD8л т45летк8 

C09C 4=т47о=8EтK DеFептоDо6 
4=78оте=78=4 II 

  

C09CA 4=т47о=8EтK DеFептоDо6 
4=78оте=78=4 II 

ло74Dт4= т45летк8, покDKтKе о5олоGко9 

C10 78пол8п8де<8GеEк8е 
EDедEт64 

  

C10A 78пол8п8де<8GеEк8е 
EDедEт64 

  

C10AA 8=7858тоDK ГМГ-КоА-

Dедукт47K 

4тоD64Eт4т8= к4пEулK, 
8л8 т45летк8, покDKтKе о5олоGко9, 
8л8 т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

G <оGеполо64O E8Eте<4 8 
поло6Kе 7оD<о=K 

  

G01 пDот86о<8кDо5=Kе 
пDеп4D4тK 8 4=т8Eепт8к8, 
пD8<е=Oе<Kе 6 
78=еколо788 

  

G01A пDот86о<8кDо5=Kе 
пDеп4D4тK 8 4=т8Eепт8к8, 

  



кDо<е ко<58=8Dо64==KE 
пDеп4D4то6 E 
7лNкокоDт8ко8д4<8 

G01AF пDо876од=Kе 8<8д47ол4 клотD8<47ол 7елL 6478=4лL=K9, 
8л8 т45летк8 6478=4лL=Kе, 
8л8 Eуппо78тоD88 6478=4лL=Kе 

H 7оD<о=4лL=Kе пDеп4D4тK 
E8Eте<=о7о де9Eт68O, 
кDо<е поло6KE 7оD<о=о6 
8 8=Eул8=о6 

  

H02 коDт8коEтеDо8дK 
E8Eте<=о7о де9Eт68O 

  

H02A коDт8коEтеDо8дK 
E8Eте<=о7о де9Eт68O 

  

H02AB 7лNкокоDт8ко8дK 78дDокоDт87о= кDе< длO =4Dу6=о7о пD8<е=е=8O 
8л8 <47L длO =4Dу6=о7о 
пD8<е=е=8O 

  декE4<ет47о= т45летк8 

J пDот86о<8кDо5=Kе 
пDеп4D4тK E8Eте<=о7о 
де9Eт68O 

  

J01 4=т854ктеD84лL=Kе 
пDеп4D4тK E8Eте<=о7о 
де9Eт68O 

  

J01A тетD4F8кл8=K   

J01AA тетD4F8кл8=K докE8F8кл8= к4пEулK 8л8 т45летк8 

J01B 4<Dе=8колK   

J01BA 4<Dе=8колK EлоD4<Dе=8кол т45летк8 

J01C 5ет4-л4кт4<=Kе 
4=т854ктеD84лL=Kе 
пDеп4D4тK: пе=8F8лл8=K 

  

J01CA пе=8F8лл8=K H8Dоко7о 
EпектD4 де9Eт68O 

4<окE8F8лл8= к4пEулK 8л8 т45летк8; 
поDоHок длO пD87ото6ле=8O 
EуEпе=788 длO пD8е<4 6=утDL 

J01E EулLD4=8л4<8дK 8 
тD8<етопD8< 

  

J01EE ко<58=8Dо64==Kе 
пDеп4D4тK 
EулLD4=8л4<8до6 8 
тD8<етопD8<4, 6клNG4O 
пDо876од=Kе 

ко-тD8<окE47ол EуEпе=78O длO пD8е<4 6=утDL; 
т45летк8 



J01M 4=т854ктеD84лL=Kе 
пDеп4D4тK, пDо876од=Kе 
E8=оло=4 

  

J01MA DтоDE8=оло=K F8пDоDлокE4F8= к4пл8 7л47=Kе 

8л8 к4пл8 7л47=Kе 8 уH=Kе; 
к4пл8 уH=Kе; 
т45летк8 

J02 пDот86о7D85ко6Kе 
пDеп4D4тK E8Eте<=о7о 
де9Eт68O 

  

J02A пDот86о7D85ко6Kе 
пDеп4D4тK E8Eте<=о7о 
де9Eт68O 

  

J02AC пDо876од=Kе тD847ол4 Dлуко=47ол к4пEулK 

J05 пDот86о68DуE=Kе 
пDеп4D4тK E8Eте<=о7о 
де9Eт68O 

  

J05A пDот86о68DуE=Kе 
пDеп4D4тK пDO<о7о 
де9Eт68O 

  

J05AB =уклео78дK 8 
=уклеот8дK, кDо<е 
8=7858тоDо6 о5D4т=о9 
тD4=EкD8пт47K 

4F8кло68D кDе< длO =4Dу6=о7о пD8<е=е=8O 
8л8 <47L длO =4Dу6=о7о 
пD8<е=е=8O; 
т45летк8 

J05AH 8=7858тоDK 
=е9D4<8=8д47K 

оEелLт4<868D к4пEулK 

J05AX пDоG8е пDот86о68DуE=Kе 
пDеп4D4тK 

8<8д47ол8лMт4=4
<8д 
пе=т4=д8о6о9 
к8EлотK 

к4пEулK 

  к47оFел т45летк8 

  у<8Dе=о68D к4пEулK 8л8 т45летк8 

M коEт=о-<KHеG=4O 
E8Eте<4 

  

M01 пDот86о6оEп4л8телL=Kе 
8 пDот86оDе6<4т8GеEк8е 
пDеп4D4тK 

  

M01A =еEтеDо8д=Kе 
пDот86о6оEп4л8телL=Kе 
8 пDот86оDе6<4т8GеEк8е 
пDеп4D4тK 

  

M01AB пDо876од=Kе укEуE=о9 д8клоDе=4к к4пл8 7л47=Kе; 



к8EлотK 8 DодEт6е==Kе 
Eоед8=е=8O 

т45летк8 

M01AE пDо876од=Kе 
пDоп8о=о6о9 к8EлотK 

85упDоDе= к4пEулK 8л8 т45летк8; 
EуEпе=78O длO пD8е<4 6=утDL 

N =еD6=4O E8Eте<4   

N02 4=4лL7ет8к8   

N02B дDу78е 4=4лL7ет8к8 8 
4=т8п8Dет8к8 

  

N02BA E4л8F8ло64O к8Eлот4 8 ее 
пDо876од=Kе 

4Fет8лE4л8F8ло6
4O к8Eлот4 

т45летк8 

N02BE 4=8л8дK п4D4Fет4<ол D4Eт6оD длO пD8е<4 6=утDL, 8л8 
EуEпе=78O длO пD8е<4 6=утDL, 8л8 
D4Eт6оD длO пD8е<4 6=утDL (длO 
дете9), 8л8 EуEпе=78O длO пD8е<4 
6=утDL (длO дете9); 
Eуппо78тоD88 Dект4лL=Kе; 
т45летк8 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.08.2022 N 2419-D) 

R дKE4телL=4O E8Eте<4   

R03 пDеп4D4тK длO леGе=8O 
о5EтDукт86=KE 
745оле64=89 
дKE4телL=KE путе9 

  

R03A 4дDе=еD78GеEк8е 
EDедEт64 длO 
8=74лOF8о==о7о 66еде=8O 

  

R03AC Eелект86=Kе 5ет4 2-

4дDе=о<8<ет8к8 

E4лL5ут4<ол 4MDо7олL длO 8=74лOF89 
до78Dо64==K9 8л8 D4Eт6оD длO 
8=74лOF89 

R03B дDу78е EDедEт64 длO 
леGе=8O о5EтDукт86=KE 
745оле64=89 
дKE4телL=KE путе9 длO 
8=74лOF8о==о7о 66еде=8O 

  

R03BA 7лNкокоDт8ко8дK 5екло<ет47о= 4MDо7олL длO 8=74лOF89 
до78Dо64==K9 

R03D дDу78е EDедEт64 
E8Eте<=о7о де9Eт68O длO 
леGе=8O о5EтDукт86=KE 
745оле64=89 
дKE4телL=KE путе9 

  

R03DA кE4=т8=K 4<8=оD8лл8= т45летк8 



R05 пDот86ок4Hле6Kе 
пDеп4D4тK 8 EDедEт64 длO 
леGе=8O пDоEтуд=KE 
745оле64=89 

  

R05C отE4Dк864NI8е 
пDеп4D4тK, кDо<е 
ко<58=4F89 E 
пDот86ок4Hле6K<8 
EDедEт64<8 

  

R05CB <укол8т8GеEк8е 
пDеп4D4тK 

4Fет8лF8Eте8= 7D4=улK длO пD87ото6ле=8O 
D4Eт6оD4 длO пD8е<4 6=утDL 8л8 
поDоHок длO пD87ото6ле=8O 
D4Eт6оD4 длO пD8е<4 6=утDL 

R06 4=т878Eт4<8==Kе 
EDедEт64 E8Eте<=о7о 
де9Eт68O 

  

R06A 4=т878Eт4<8==Kе 
EDедEт64 E8Eте<=о7о 
де9Eт68O 

  

R06AC 74<еIе==Kе 
Mт8ле=д84<8=K 

EлоDоп8D4<8= т45летк8 

R06AX дDу78е 4=т878Eт4<8==Kе 
EDедEт64 E8Eте<=о7о 
де9Eт68O 

лоD4т4д8= E8Dоп; 
т45летк8 

S оD74=K Gу6Eт6   

S01 оDт4лL<оло78GеEк8е 
пDеп4D4тK 

  

S01A пDот86о<8кDо5=Kе 
пDеп4D4тK 

  

S01AA 4=т858от8к8 тетD4F8кл8= <47L 7л47=4O 

S01E пDот86о7л4уко<=Kе 
пDеп4D4тK 8 <8от8GеEк8е 
EDедEт64 

  

�о78F8O 8EклNGе=4 E 1 O=64DO 2021 7од4. -  4EпоDO6е=8е �D468телLEт64  $ от 23.11.2020 N 
3073-D 

S01ED 5ет4-4дDе=о5лок4тоDK т8<олол к4пл8 7л47=Kе 

 

II. �лO аптеч=OE пу=кто6, аптеч=OE к8оEко6 
8 8=д868дуалP=OE пDедпD8=8<ателе9, 8<еNщ8E л8Fе=78N 

=а DаD<аFе6т8чеEкуN деOтелP=оEтP 
 

Код АТ% А=4то<о-теD4пе6т8GеEко- Лек4DEт6е==Kе Лек4DEт6е==Kе DоD<K 



E8<8GеEк4O 
кл4EE8D8к4F8O (АТ%) 

пDеп4D4тK 

A п8Iе64D8телL=K9 тD4кт 8 
о5<е= 6еIеEт6 

  

A02 пDеп4D4тK длO леGе=8O 
745оле64=89, E6O74==KE E 
=4DуHе=8е< к8Eлот=оEт8 

  

A02B пDеп4D4тK длO леGе=8O 
O76е==о9 5оле7=8 
6елудк4 8 
д6е=4дF4т8пеDEт=о9 
к8Hк8 8 
74EтDоM7оD47е4лL=о9 
DеDлNкE=о9 5оле7=8 

  

A02BX дDу78е пDеп4D4тK длO 
леGе=8O O76е==о9 
5оле7=8 6елудк4 8 
д6е=4дF4т8пеDEт=о9 
к8Hк8 8 
74EтDоM7оD47е4лL=о9 
DеDлNкE=о9 5оле7=8 

68E<ут4 тD8к4л8O 
д8F8тD4т 

т45летк8, покDKтKе пле=оG=о9 
о5олоGко9 

A03 пDеп4D4тK длO леGе=8O 
Dу=кF8о=4лL=KE 
=4DуHе=89 6елудоG=о-

к8HеG=о7о тD4кт4 

  

A03A пDеп4D4тK длO леGе=8O 
Dу=кF8о=4лL=KE 
=4DуHе=89 6елудоG=о-

к8HеG=о7о тD4кт4 

  

A03AD п4п46еD8= 8 е7о 
пDо876од=Kе 

дDот46еD8= т45летк8 

A06 Eл458телL=Kе EDедEт64   

A06A Eл458телL=Kе EDедEт64   

A06AB ко=т4кт=Kе Eл458телL=Kе 
EDедEт64 

58E4код8л Eуппо78тоD88 Dект4лL=Kе; 
т45летк8 

  Eе==о78дK A 8 B т45летк8 

A07 пDот86од84Dе9=Kе, 
к8HеG=Kе 
пDот86о6оEп4л8телL=Kе 
8 пDот86о<8кDо5=Kе 
пDеп4D4тK 

  

A07D пDеп4D4тK, E=864NI8е 
<отоD8ку 6елудоG=о-

  



к8HеG=о7о тD4кт4 

A07DA пDеп4D4тK, E=864NI8е 
<отоD8ку 6елудоG=о-

к8HеG=о7о тD4кт4 

лопеD4<8д к4пEулK 8л8 т45летк8 

A07F пDот86од84Dе9=Kе 
<8кDооD74=87<K 

  

A07FA пDот86од84Dе9=Kе 
<8кDооD74=87<K 

58D8до54ктеD88 
58D8ду< 8л8 
пDо58от8к 87 
58D8до54ктеD89 
58D8ду< 
од=око<по=е=т=
K9 
EоD58Dо64==K9 

к4пEулK 8л8 поDоHок длO пD8е<4 
6=утDL 

(6 Dед. D4EпоDO6е=8O �D468телLEт64  $ от 24.12.2022 N 4173-D) 

A09 пDеп4D4тK, 
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